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(1) Coound

0, +0,+0;+80,

=26.75 0,2 =31.75

80, = max{|0; — 0,,| } = max{|24 — 26.75|,|27 — 26.75|,129 — 26.75|,|127 — 26.75|}
= max{2.75,0.25,2.25,0.25} = 2.75’

Ael = Lg).:fo)'L_\ﬂ oK Uas + °MJ€L°}]L§L]45 = 1o + 2'75o = 3'75o

56, = max{|0, — 0,,| } = max{|35 — 31.75|,|32 — 31.75|,|31 — 31.75|,|29 — 31.75|}
= max{3.25,0.25,0.75,2.75} = 3.25

Aez = u;),:f o}‘.\j‘ olKiws oz + oS uu.aLa)] sla> = 1° + 3250 = 4750
Us1 =tan0,,; =tan 26.75 = 0.50
U =tan 0,,, =tan 31.75 = 0.61

5 il 0 o 1313 T bl 51 sl (S P sl aslona sl

dp, = (1+ tan®6,,)d6 = Ap, = (1+ tan?6,,)0 (L5 A6, = 3.75° = 0.020 rad

Apgy = (1 + tan?0,,)A0 = (1 + 0.25)0.02 = 0.025 AG; = 4.75" = 0.026 rad

Apg, = (1 + tan?0,,)A0 = (1 + 0.38)0.026 = 0.036

foq+f,+f
£ =$= 0.59N f,, = 0.85N

5fs1 = max{|fg; — fyn| } = max{|0.41 — 0.59],|0.44 — 0.59],]0.39 — 0.59|} = max{0.18,0.15,0.20}
=0.20N

Afsl = Lgf.fo)L)J Ko s + o..\....Su,...JLc)TL;Up =0.02+0.2=0.22N
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74
8f, = max{|f; — f,| } = max{|0.83 — 0.85/,|0.85 — 0.85],|0.86 — 0.85|} = max{0.02,0,0.01}

= 0.02N

Afz = ngjo)L.\;‘ oKwd Uas + owu.u[n)TLng =0.02 + 0.02 =0.04N

fius fns1  0.59 0.85
M= N TMa=y T 11 203 Me=gp =077
TP W ~|,ag.aus=;—S«beb5|~xe.ledl5~‘w'%récsu°"“+“"“6‘ﬁ
Aug,  Afg AN Af g AN) Afs.N + AN. f
Inp = Inf, —InN =~ =204 S = du= (4 =
A _0.22><1.1+0.02><0.59_021 A _0.04-)(1.1+0.02><0.85_005
Us1 = 1.21 - Hsz = 1.21 e
(¥) Caomad
0,+06,+0;+0 o o
0, = — 24 3 % _16.5 0,, =215

60; = max{|0; — 0,,| } = max{|17 — 16.5|,|18 — 16.5|,|15 — 16.5|,|16 — 16.5|}
= max{0.5,1.5,1.5,0.5} = 1.5°

A01 = 6):?5 o)‘bu" Ko ez + suisS u“-’L")] 6Ua.$ = 1° + 150 = 250

80, = max{|0;, — 0,,| } = max{|20 — 21.5|,|21 — 21.5|,|22 — 21.5|,|23 — 21.5|}
= max{1.5,0.5,0.5,1.5} = 1.5

Ay = 5,5 ool olfius Uas + ousS ileyl gls =17+ 1.5° = 2.5°
U1 =tanB,,; =tan16.5 = 0.30
Uiz =tan 0,,, =tan 21.5 = 0.40

5 il 25 o 1315 T bl 51 sl (S P sl arslona sl
dpy = (1 +tan?6,,)d0 = Ap, = (1 + tan?0,,)A0 (ole.»b) 46, =2.5 = 0.014rad

Apg, = (1 + tan?0,,)A0 = (1 + 0.087)0.014 = 0.015 A0, =2.5" =0.014 rad

Apgy = (1 + tan?0,,)A0 = (1 + 0.155)0.014 = 0.016




(F) G

fag + faz + f
fomy = — ;2 B — 0.34N fimz = 0.35N

8f 1 = max{|fy — fam| } = max{|0.30 — 0.34/,10.34 — 0.34/,/0.38 — 0.34|} = max{0.04,0,0.04}
=0.04N

Afdl = ngj o}‘.\i‘ oKwd Uas + cuS u.chﬂ LgUa:} =0.02 + 0.04 =0.06N

&f ;, = max{|fy; — far| } = max{|0.32 - 0.35/,0.36 — 0.35/,10.38 - 0.35(}
= max{0.03,0.01,0.03} = 0.03N

Ade = 6)5 o}‘.\j‘ oKwd Uas + susS UM.’LQ)T LgUa} = 002 + 003 = OOSN

fq fo4 0.34 0.35
=N TMa=y “ 110 %30 Mo =77 =031
:M;Mb@'éu](=fﬁd4bg|))‘|dg.lg6&baa|gﬁ',éébwbué|x
Inpy=Infy—InN = —2="22 4"~ Ap, = (— —):
npg = Inf, —In g fd+N Ha = Hq fd+N N?
0.06x1.1+0.02x0.34 0.05x1.14+0.02x0.35
Apgy = 91 =0.06 Apy, = 31 =0.05
_F1+F2+F3_ _
Fi = ————=0.56N F, = 0.70N

8F, = max{|F, — F,| } = max{|0.50 — 0.56/,]0.56 — 0.56/,]0.62 — 0.56|} = max{0.06,0,0. 04}
=0.06N

AFq = 5 o5l olfas st 4 oS ilejl sllas = 0.02 4 0.06 = 0.08N

8F, = max{|F, — F,| } = max{|0.70 — 0.70],]0.68 — 0.70],]0.72 — 0.70|} = max{0,0.02,0.02}
=0.02N

AFy = 5 ojll olas s 4 oaisS ilejl sllas = 0.02 4 0.02 = 0.04N

_2.76 x0.57

=1.12N R, = 070 =1.10N

P sin@ 1.1x0.57
—— = Ry=————
F 0.56
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o yloR glas dwlro gl 9

LR — P+ Insing — I — 2R AP+cos0+AF R 112(0.02+0.82+0.08) -
= - — = — = - = L
nik =+ insing — (n R_ P @ sind 1 1.1 ' 0.57 " 0.56
R _110<0.02+0.82+ .04)_165
z= " 2.76 0.57 0.70)
(5) oo
_ +Q, + _ — —
Ql:W:OﬁSN Q,=0.87N Q; = 1.49N Q, = 1.58N

5Q; = max{|Q; — Q,| } = max{|0.66 — 0.65],]0.62 — 0.65|,]0.66 — 0.65|} = max{0.01,0.03,0.01}
=0.03N

AQI = 6):5 o}‘.\j‘ olfws Uas + cusS uu.aLa)] sla> = 0.02+0.03=0.05N

5Q, = max{|Q; — Q,| } = max{|0.90 — 0.87/,10.88 — 0.87|,0.84 — 0.87|} = max{0.03,0.01,0.03}
=0.03N

AQZ = 6):?5 o)‘b;" olfws Uas + cussS L)wLa)] sla> = 0.02+4+0.03 =0.05N

5Q; = max{|Q; — Q,,| } = max{|1.50 — 1.49],|1.50 — 1.49|,|1.48 — 1.49|} = max{0.01,0.01,0.01}
=0.01N

AQ3 = 6,5 o5l olus s + 0uiS ilejl slas = 0.02 4 0.01 = 0.03N

50, = max{|Q; — Q,; } = max{|1.56 — 1.58/,|1.58 — 1.58|,|1.60 — 1.58|} = max{0.02,0,0. 02}
=0.02N

AQy = 5,5 o5l olius s + 00iiS ilejl slas = 0.02 4 0.02 = 0. 04N

(bl (oor Y N ol s R glbd 0ils (g0 )is Sone Jouasilps > (gugaw 9 IN byl 51 M = % s (5951 Cawas gl

InM = InQ — lR:AM—AQ+AR

nM =1InQ —In T 0 R

AM; 0.05+0.01 _ 0 101 AM, 0. 05 0.01 _ _ 0.082
M, 065 0.4 M, =087 04 '
AM; 0.03 0 01 _ 0 045 AM, 004 0.01 — 0.050
M, “149 702 " M, “1s58t 04
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